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825(EX)

Instructions : mpulso 5
i) All questions are €0 Ty. . nd + C eact .
1i) This question paper has two Parts - Part- - ps of one mar ‘
iiijy  Part-A consists of 20 multiple choice queSfJ
have to be answered on OMR Answer Sheet-
iv)  For Part-A read the question-wise instruction®
the given OMR Answer Sheet only. Do not erasts
the OMR Answer Sheet after answering,
i . . eml.
Marks of the csflons &7¢ mentioned again® * 0 marks. There g

o k your answer On
4t or use whitener on

v
v:j Part-B consists of descriptive type question$ of sstions in this part
Descriptive-I, Descriptive-II and two map related qU° _
vii)  All the questions of Part-B are to be attempted allat @ t’fne'
viii) ~Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve.
ix)]  Attach firmly the supplied maps in your answer-book.
x)  For visually impaired examinees Question Nos. 9(A) and 9(B) have been
given separately for writing answers in lieu of map work.
gig -
PART - A

( Fgfrmedia uy )

( Multiple Choice Type Questions )

ﬁ%:ﬂ%mmwﬁﬁmm%wﬁmﬁmﬁ%mﬁﬁwwaﬁ
OMR I T3% R fufeqg =¥ - |

1 ;::;;» 2mang the following Jeaders formed 4 or
- society
| na un
(A)  Victor Emmanuye] |t B) g e o
(C} Count Cavour (D) G}“ﬂeppe Mazzin;
g Zlnj
Ppe Garibgayg; 1
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2 et faay ey 7

el
) & fAE o B fefferay fieo
(C) Shaft | he following wag D) smey am faruaids !
Who among t pm”]aimed as the first German Emperor
in1871?
(A) Kaiser W‘Eﬁ]hﬂlm [ B)  William 11
(C) Frlcdl'iclh D) ot von Bismarck !
1780 & wig # Fd TR T M7 o
(a) i T | (B)  avdifir Troreis
(C) T . (D) i !
What type of government was in France in 1789 ?
(A) Limited monarchy (B}  Unlimited monarchy
(C) Aristocracy (D)  Democracy ]
2 & o P T FX H R o o |
(A) wEEr H gig (B) &Y ITRT F atferepar
(C) W o W fefaor (D)  Jeiuferat wd wedt st @ farhy

1
What was the main cause of the end of ‘Corn laws’ ?
(A) Increase in population '
(B) Excessive agricultural products
(C} Control on corn import

(D) The protest by industrialists and urban people 1
1944 T 'S o0 Woier’ el S 141 T 2

(A) fora B) Il

(C) WY (D) wRd 1
Where was ‘Bretton Woads Conference’ organised in 1944 ?

(A) Britain (B) U.S.A.

(C) France (D) India 1
fFreferfiad & @ Sy eg o @ 7 € 2

(A)  wfem | B) FE

(c) femm (D) =WR |

0 1000,1"28 [ Turn over
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6.  Which of the following is a subject of the U culty?

(B) Ag erct

A Defence

(C) Education -
7. el A S-E GHES T E 2 '
e (B) €@

(A)
() faeett o) G
7. Which is the majority group in Sri Lanka ? ons
(A) Tamils (B) Chﬁs'ﬂ .
(C) Sinhalese (D) pMushm?
8.  fyefeifaa 9 7 et denees s @ &
(A) wRd B sfesdd
(C) ¥E T FTREH (D) e ]
8. Where in the following there is no federal government :
(A] India [B] Be]gjum !
(C) U.S.A. (D)  SriLanka \

9. TR T 7 faer ar
(A) 99 B HH A TSFIT | 0T Tel fopar < |l

(B) €W I IHIT ¥ Hi Frwy T8l &
(C) ¥ 3R TSI SToRT-STerT ¢
(D) T § ®IE & ‘ !

9. It was the opinion of Mahatma Gandhi that
(A)  Religion can never be separated from politics
(B) There is no relation between religion and politieg
(C) Religion and politics are different things

(D) None of these I

10. ﬁ'ﬂrl%iﬁa?rﬁﬂaﬁq-mmﬁwﬁm% ?

(A) IS R B) Yy
(C) ITEHE T D) ¥ § qupy
Which of th ing i |
10. ¢ following is related to democracy »
(A)  Transparent Government (B)  Legi
(C)  Responsible Government (D) All of &]Elte Government
Cse

01000/28
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11. Wﬁ i el 7 1 ﬁlf.i]’f;'u (”T'”'h) 13 A wr )
¢ A G (A

(A) s (f3)  tiwa
(C) ESELLC RE! (1) Tl AT % GA

11. [n which one of the following states ig ¢ |
o whi ’ ¢ states i terrsced farming practised ?
( ) aryana | ”-"] fPunjab
(C] Litta I’ﬂkhfiﬂf “J] Mains of Uttar Pradesh

12, Frefefaa 4 @ #A-0 T Y
(A) HEA
(C) = (D)

12.  Which one of the following is a rabi crop ?
(B) Coarse grains

(B) @12 %A

(A) Rice
(¢) Gram (D) Cotum
13. mﬁﬁﬁhsﬁﬁrﬁaﬁﬁﬁm-mﬁhm o AAE 2
(A) @A A ~ B T
(c) (D) FAT 1
inerals i% found in Monazite sznds ?

13. Which onc of the following m
(A) Mineral oil
(C) Thorium

14. mﬁmnnmmmﬂﬂwﬁ
(A) EAEE @) w2 T
fD] .ff‘:‘—ll’.-'l:' 4 1

(B Urznium
(13 Coal

c) @z ' |
14. in which one of the following industries 18 limestone used as raw

material ? |

(A) Plastic (B} Automobile

(C) Cement (D) Aluminium 1
1:3 f AN m P'UTE -q ;rj' ﬂ‘rﬂ ;':Fiu T ’:Ir- 7 W =FH =9 AR TS T

a7l ¥ 7 (2017) |

(A) ! i’ A (B) ' Al

() A (D) A 1
15. which onc of the folowing 1€ eigh ur:ing rr:;gil:r;cs has better position in

terms of human deye inprﬂﬂ rhan India )

(A) pakistan (B) ‘Bangladesh

(D) Ne p‘a | :

ari Lanka

(C)

)] 0O00 [ 28
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16, Frfefam § @S- @ s ¥ 2
B) % |
(A) ATH ( o
(C) i HIE (D) ?{T‘c )
. . . 1
16.  Which one of the following minerals ;;]mctéfj | 6 |
(A) Mica . agtol
(C) Iron ore (D) Lime 3 Hﬁqﬁ—,[ﬁ cq
7. o T AT PR AR ® IR o
(A) I @ & it 8 :
(C) Q(’-ﬁ'ﬂ_ﬂF &3% (D) ?f’ﬁr h the natural Process is
17. The production of a commodity mostly throus
included in sector
(A) Primary sector (B) Secﬂﬂdﬂ n Technology sector
- (D) [nforma
(C) Tertiary sector 1
18, wEEe 1 W Pretad § @ ey afe e ?
(A) TG TG (B) STERIEE
(C) hIgel | (D) | ]
18.  To which of the following minerals is Anthracite related ?
(A) Iron ore (B) Bauxite
(C) Coal (D) Gold 1
19. - frfafas 9 @ g a9 SFERY UTHIT S ST T T
(A) 1960 (B) 1980 .
(C) 1970 | (D) 1950 q
19. In wh_ich one of the following years was Bangladesh Grameen Bank
established ?
(A) 1960 (B) 198
€ 1970 (D) 1950 |
20. WEsTHE SR Folt 8 @ aflevn Pt &
L]
| WY sy oy freif B
A E ?
(A) ﬁw P v B) ; g
(€) U % @i | ‘:F?"ﬁ-[

01000/28



20.

7
foll ’
: of the following ba.
On which on¢ & Pases are public and private secr®

classified ?

() Emplayment cORCTIONS
(B) Nature of economic activity

() Owmnership of enterprises
(D) Number of warkers employed in enterprises -
qug - g

ent conditions

( Descriptive - 1)
( Foet Al % I Wl ST 80 v F S )
( Write answers of these questions in about 80 words each. |
SEREsl Tl & A< 0 9Rd ¥ UL FEE § ez = 9E 7 5[ EET 55

2-2
Aqgar
HifTT | 2+2
Why did the textile exports from India decline in the late eighteenth
century ? Explain two causes. 2-2
OR
Explain any two types of movemenis or flows identified bv the
international economists during the nineteenth century. 2+2
a A TR S & e S 09 = e g A9 2 2
FOar

ara 1 7 3R e % g @ ¥ S F R QY s w5 35 S
_ S,

ton of pohnc;a_l power n
4

Explain the basic ideg behind the decentraliza

India.
OR

Explain any two chgracteristics of distri
centre and states in India. 2-2

bution of powers between the

01000/28  Turn over
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3.

01000/28

F T a;mﬁﬁ?ﬁ%ﬂ%?awﬁ@ﬁﬁm 242

YR I fafzdl &1 quiT ity |
arerar Wﬂﬁwaﬂ%

. : il
3Ty HI YN FART U WRg o 39 freel 2+,
i | d Jescribe 8y fWo typeg
Mention the importance of soil as a resourc® an 249

of soil found in India.
OR

State the usefulness of mica and also mentio?

of this in India. $%TQW1}
n@umwuﬁwﬁﬁmﬁ%ﬁ:ﬁmﬁvﬁﬁwﬁw ;
+2

H-dt fafy Jgax & »

{100 pI‘OduCing Stateg
ar 2+9

AT
Fakelh T % a9 o § o faeh s @ AEE P OC R Q

TEE ST | 2+ 9

Differentiate between national income and per capita income. Which one

of these is better to compare the condition of different countries ? 2+2
OR

What do you understand by foreign trade ? Give any two suggestions tg

make foreign trade favourable. _ 2 +9

( FUTES - 11 )
( Descriptive - II )
(ﬁnwzw#ié;aﬁzwahsarwwr1503mﬁﬁthmr)

( Write answers of these questions in about 15



9

an by Salyagra
what do )-'{“.l me 111 Y “ g . ha ? Anal}rs azs(EXl
hed by Mahatma Gandhi. © three saty
launchet agraha movements
i OR 2+ 4
- eratio
When was Nom coop . Movemep, laun |
causes of this movement. ched ? Discuss any two
“ ey e 3T ot wrefg b 2+ 4
s w4 N 81" 5% o o gt e
? AT
¥ 2t 39y Farst!
4+2
Heqay :
s 3 wieeait & S WA & b w7 vty e .
“Caste system 1S still prevalent in Indian society.” Write its causes.
Suggest two measures to abolish it, 4+2
OR
6

Describe the ways of discrimination faced by women in India.

ﬂﬁﬁhﬁﬁ%%ﬂ?ﬁﬁ*Mﬁﬁﬁﬁﬁﬁﬁﬁf@h%ﬁmmnmmﬁa@#ﬁ%i

7 I T T St Feoig BT 3+3
Fraan

80T | Y T T § >R A F
Describe the suitable geographic®

fiqr IS AW 37T SAEC | 2+ 4

conditions for the cultivation of

producing states of this in India.

sugarcane and also mention any three i

OR
What do you understand bY soil erosion > Give any four measures to
crstan 2+ 4

prevent it.
ot ua 5 # faraT FIC | 3+3
we fgdias &=t i frgredt

. speral

6

Fg |
. .  t feE
sranfaa &ah % et @t Waﬁ . mary and secondary sectors. 3+3
Il '

Discuss the characteristics © OR
 fthe unorganised sector., 6

oﬁrers
Discuss the problems of th° ab
’ l Tum over
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( Wy et 99 )

( Map Work ) ﬁ-ﬂ'ﬁm%l
%:ngm]mgm)mﬁgﬁ

Instruction : Question Nos. 9(A) and Q(BJ are

9(A). ﬁm%%ﬁwﬁaﬁw%&&nﬁmmﬁiﬁ@
WA A0 T S F R g i £
2 2

o HEAT !
i) wwaﬁwwmwww.wg § 2t

- L -]; 1
i) WWWWW#W@W' 2"
e J 1

iii) qE W el Soratarer arr w5t gea g2 EHQ'
, . . Ly
U RCCE T ey Sp————— 2" 3
v % e s 9R-gh w8 ge g %*1
2

9(A). In the given outline map of India, locate the following places by

the symbol @ with names. For correct mention of name and locatiop

11
5+ ; marks have been allotted.

1) The place where the session of Indian Natj
ational Congres
s was held

in September, 1920,

1,1
24
- 2 2
1) The place where Mahatma Gandhi braoke th
€ Salt Lay 1, |
' 22
i} The place where Jallianwala Bagh incidentt ) 2
00k 1]
| blace, Tyl
v} The place where the Satyagraha Moy 2 7
€me
Mahatma Gandhi took place, b of Peasants of
. 1]
v) The district where Chauri-Chaura inciden 2 ¥ 2
to
%k Place, Ly !

01000/28 2



9 | =
S =108 a1 o e

B e

i) Wmﬁﬁmﬁﬁﬁﬁmwm; Ly
_ 2

iv) W*wﬁtﬁmmﬁﬁmmuﬁm L 2
| 2
v) Wﬂﬁ@mwh@ﬁﬁmmuﬁm 2
9(B). Instruction : ShoW the following on the given map of India :
1) The capital city of Uttar Pradesh by symbol with name. % + %
iij)  Adamon the river Narmada by [ =] symbol with name- i+ 2
iiifi An jmportant river of South India by symbol with name. ,15 + %
iv) A jute producing state of India by [#7] symbol with name. % + %
V) An atomic energy centre of India by [E symbol with name. %1‘ %

(Wg&ﬂtﬁlﬂuﬁﬁrﬁlﬁ%ﬁﬁmﬁwm%fzﬁw%mﬁ)

( Only for visually im_paired examinees in lieu of Map work )
o(a). Fdwr: ﬁmﬁhﬂuﬁ%ﬁaﬁm-gmﬁ%mlqmﬁiwmﬂ

T |
i) W@ﬂfmﬂaﬁww.lgzoﬁiﬁgwm? 1
ii) ﬂmﬁ%ﬁ#mwﬁﬁwmamm? .
iii) aﬁﬂﬁmwnavTaﬂazmﬁﬁﬁﬂéiéiﬁ .

meﬁﬁﬁmm? 1

v) aﬁﬁ*ﬁﬂaﬁmi‘ﬁﬂwﬁ'“ﬁ? \

{ Tum over
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A 12
el 8
.‘\,’- I}"tsm‘lcn-on .

book. Dy pey use map.

. Congress was
, . . atlonal
€ Where the Session of Indian N 1

1
1

Name the plac
held ip Septe

r D
8 Gandhi break the Salt Law
°r¢ did Jallianwal, Bagh incident take place ?

. dhi
ere did Satvagrahg Movement of peasants of Mahatma Gandhi
take place » 1

) Wh

Co ?

In which district did the incident of Chauri-Chaura take place ? 1
%WEWW m_mﬁﬁﬁgmmﬂﬁiﬂwq
B ol

9(B). fdwr -

g “ﬁ?mﬁmﬁwwmﬁ%ﬁg@ !
i) ?ﬁm?ﬁwﬁﬁuﬂw%ﬁw 1
i) mWﬁwﬂﬂ%qﬁﬁm%ﬁm 1
iv) Wﬁi‘v‘@i‘émmww%ﬁw 1

v) w%q&tmwﬂi%—quﬁﬁ@a
9(BJ. Instruction -

1

Write answers of the following questions

answer-book. Do not use the map,

In  your

1) Write the name of the capital city of Uttar Pradesh

1) Write the name of the dam constructed on the river Narmada.
1) Write the name of an important river of South Indig |
iv)  Write the name of a jute producing state of India,

v) Write the name of an atomic energy centre of [ngiq

825(EX) - 4,90,000



